
SAP ABAP table REIS_PL_L {ALV Reporting: Parcel}

REIS_PL_L

LOCHIER [CHAR (30)]

RESPONSIBLE [CHAR (12)]

USEREXCLUSIVE [CHAR (12)]

GSBER [CHAR (4)]

USGFUNCTION [CHAR (4)]

LOCSYS01 [CHAR (4)]

LOCSYS02 [CHAR (4)]

LOCSYS03 [CHAR (4)]

LOCSYS04 [CHAR (4)]

LOCSYS05 [CHAR (4)]

LOCSYS06 [CHAR (4)]

LOCSYS07 [CHAR (4)]

LOCSYS08 [CHAR (4)]

LOCSYS09 [CHAR (4)]

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 REIS_PL_L-GSBER = TGSB-GSBER 

0..N

{0,1}

TIVBDLOCHIER

MANDT [CLNT (3)]

LOCSYS [CHAR (4)]

LOCHIER [CHAR (30)]

 REIS_PL_L-LOCHIER = TIVBDLOCHIER-LOCHIER 

0..N

1

TIVBDLOCSYS

MANDT [CLNT (3)]

LOCSYS [CHAR (4)]

 REIS_PL_L-LOCSYS01 = TIVBDLOCSYS-LOCSYS 

0..N

0..N  REIS_PL_L-LOCSYS02 = TIVBDLOCSYS-LOCSYS 

0..N

0..N  REIS_PL_L-LOCSYS03 = TIVBDLOCSYS-LOCSYS 

0..N0..N
 REIS_PL_L-LOCSYS04 = TIVBDLOCSYS-LOCSYS 

0..N0..N  REIS_PL_L-LOCSYS05 = TIVBDLOCSYS-LOCSYS 
0..N

0..N  REIS_PL_L-LOCSYS06 = TIVBDLOCSYS-LOCSYS 0..N
0..N

 REIS_PL_L-LOCSYS07 = TIVBDLOCSYS-LOCSYS 
0..N

0..N

 REIS_PL_L-LOCSYS08 = TIVBDLOCSYS-LOCSYS 

0..N

0..N

 REIS_PL_L-LOCSYS09 = TIVBDLOCSYS-LOCSYS 

0..N

0..N

TIVBDUSGFUNC

MANDT [CLNT (3)]

USGOBJTYP [CHAR (2)]

USGFUNCTION [CHAR (4)]

 REIS_PL_L-USGFUNCTION = TIVBDUSGFUNC-USGFUNCTION 

0..N

{0,1}

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 REIS_PL_L-RESPONSIBLE = USR02-BNAME 

0..N

1

 REIS_PL_L-USEREXCLUSIVE = USR02-BNAME 

0..N

{0,1}


